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Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

Mo candidate will be allowed to leave the examination hall till the end of the session and
without handing over hisfher Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.
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1. Two statements are given below :

i. Aurangazeb banished singing in his court.
ii. Largest number of books on Indian classical music wers written during
Aurangazeb's reign.
Considering the above statements, which of the following is correct 7
A) Both i and ii are true B) Only i is true
C) Both iand ii are wrong D) Only ii is true

. Many musicians and singers had adomed the court of Swathi Thirunal. Find the
odd man in the following.

A) Subbukkutty Ayya B) Alagiri Naidu
C) Sivanandan D) Vativelu
. Who is elected as the President of the Volleyball Federation of India ?
A) Rajkumar B) Jagan Mohan Rao
C) Adille Sumariwalla D) Achyutha Samanta

. Among the following which statement is historically wrong 7

A) K.P.Kesava Menon was a leader of Home Rule League.

B) In the election to the Central Legislative Assembly held in 1834, Muhammed
Abdurahiman won by defeating the Muslim League candidate.

C) Mannath Krishnan Mair was the leader of the movement for tenancy reform.

D) J. M.&nﬁuﬂwmhhﬂiﬂhmﬂmmm.

_ Mateh List — | with List — Il and choose the answer from the codes given below :

List-1 List =1l

a. Fardoonji Murzb i. Jam-e Jamshad
b. P. M. Motiwala ii. Bangbasi
¢. Babu Jogendranath Bose iii. Bombay Samachar
d. Dayal Singh Majeetiya iv. Tha Tribune
Codes :

a b c d
A) i iv i il
B) i i ii v
C) i i il v
o TR i

6. Who preceded Yuri Andropov as the leader in the Government of US.S.R.?

A) Nikita Khrushchev B) Konstantin Chemenko
C) Leonid Brezhnev D} Mikhail Gorbachev
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7. Arrange the following into correct chronological order and select the right answer
from the codes given below :

i. Bethune School, Culcutta
ii. Madras University

iii. Sanskrit College at Varanasi

iv. Girls' School in Pune (founded by Phule couples)
Codes :

A) v il i ii

B) i il i iv

cy W 1 v ii

D) i v i i

8. Among the following which statement is historically wrong 7
A) Ayya Vaikunta consecrated a mirror as deity in a temple.

B) The Madras Govemor Charles Trevelyan had persuaded the authorities in
Travancore to give the right for all women to wear upper clothes.

C) Pandit Karuppan was nominated to the Cochin Legislative Council.
D) Sahodaran Ayyappan was a member in the Sri Moolam Praja Sabha.

9. Match List — | with List — || and choose the answer from the codes given below :

List -1 List -l
(Author) (Work)
a. Ramavarma Parikshit Thampuran i. Panathinte Kadha
b. Manavikrama Ettan Thampuran ii. Ambarishacharitha
c. K. S. Lakshmana Panikkar iii. Lakshmi Kalyana
d. K. Kesava Pillai iv. Prathyakshasariram
Codes :
a b c d
A i M i iv
B) i iii ii iv
Bl bR N
B B ;| v

10. Among the following who was not a signatory of the ‘Abraham Accord’ 7
A) Benjamin Methanyahu B) Abdullatif bin Rashid al-Zayni

C) Abduliah bin Zayid D) Donald Trump
A -
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11.

12.

13.

14,

15.

186.

17.

18.

19.

Which of the following rock is called primary rocks 7
A) Metamorphic rocks B) Sedimentary rocks
C) Igneous rocks D) Stratified rocks

A line representing points of equal amounts of cloud cover
A) Isohyet B) Isoneph C) Isohaline D) Ischume

Which of the following wind is seasonal wind 7
A) Trade winds B) Westarlies C) Monsoon D) Easterlies

Which of the following statement is/are correct about the Himalayas of India ?
i. The Himalayas are geologically young and structurally fold mountains.
ii. Shiwalik is the outer-most range of the Himalayas.
jii. Mt. Everest is located in the Shiwalik.
A) Only ii and iii B) Only i and ii
C) Only i and i D) All of the above (i, ii and iii)

Which of the following river is not a east flowing of Kerala 7
A) Kabani B) Bhavani C) Periyar D) Pambar

MMP at Factor Cost is equal to
A) GNP at Market Price — Depreciation  B) GNP at Factor Cost — Depreciation
C) GDP at Market Price + NFIA D) GDP at Factor Cost + NFIA

The Planning Commission of India was constituted in the year
A) 1947 B) 1951 C) 1850 D) 1856

Which Five Year Plan adopted the Mahalanobis model for the investment pattemn in
India ?

A) First Five Year Plan B) Second Five Year Plan
C) Third Five Year Plan D) Fourth Five Year Plan
What is Bank Rate ?

A) It is the rate of interest charged by banks against their loans
B) It is the rate of interest given by banks against the deposits received
C) Itis the portion of the deposits that banks are required to maintain with the RBI
D) Itis the re-discounting rate that RBI extends to banks against securities
B
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20.

21.

22,

23.

24,

28,

27.

29.

A

Which Article of the Indian Constitution allocates legislative powers, including taxati
between the Parliament and the State Legislature ?

A) Article 246 B) Aricle 265  C) Article 280 D) Article 285

Which of the following Schedule contains provisions relating to disqualification
the members of Parliament and State Legislatures on the ground of defection ?

A) Tenth Schedule B) Fourth Schedule
C) Sixth Schedule D) Eighth Schedule

When the President of India decides not to take any action on the Bill passed by
two Houses of Legislature, it is known as

A) Absolute Veto B) Suspensive Veto
C) Pocket Veto D) Qualified Veto

The Headquarters of Northermn Zonal Council is situated at
A) Shimla B) New Dalhi C) Chandigarh D) Jaipur

Which of the following Fundamental Right is available to both citizens and foreigners 7
A) Prohibition of discrimination on grounds of religion, race, caste, sex or place of bi
B) Equality of opportunity in matters of public employment
C) Right of minorities to establish and administer educational institutions
D) Equality before law and equal protection of laws

Which of the following cannot be included in the category of writs 7

A) Injunction B) Habeas Corpus
C) Prohibition D) Quo Warranto
- Central Vigilance Commission was established in the year
A) 1962 B) 1963 C) 1964 D) 1967
The procedure for Amendment of Indian Constitution is described in which Article 7
A) Article 368 B) Article 365 C) Article 367 D) Article 369
Collective responsibility is a feature of systemn of Government.
A) Presidential System B) Unitary System
C) Federal System D) Parliamentary System
Who is the Ex officio Chairman of Council of States in India ?
A) The President of India B) Vice-President of India

C) Speaker D) Deputy Chairman
_B.
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30. Who described Prime Minister of India as Primus Inter Pares (First Among Eq
A) Lord Morley B) Herbert Marrison
C) H. J. Laski D) Jennings

31. The word ‘gambit’ is associated with
A) Hockey B) Chess C) Basketball D) Volley

32. The pen-name of the Malayalam writer T. C. Joseph is
A) Edappally B) Edassery C) Ekalavyan D) Edamaru

33. The official mascot of the 2022 Winter Olympics Bing Dwen Dwen is a
A) Panda Bear B) White Tiger C) Wolf D) Raccoon

34. Appunni is a character in M. T. Vasudevan Nair's novel
A) Kaalam B) Naalukettu C) Randamoozham D) Asurav

35. The 2018 Asian Games was held in
A) Manila B) Doha C) Jakarta D) Bangkok

36. Ajayan is the central character in Adoor Gopalakrishnan's film

A} Mukhamukham  B) Kodiyettam C) Vidheyan D) Ananta
37. G. Aravindan's film won the Mational Film Award in 1985,

A) Chidambaram B) Pokkuveyil C) Thampu D) Uttaraya
38. The President's Trophy Boat Race is associated with the Lake.

A) Vellayani B) Punnamada

C) Ashtamudi D) Veeranpuzha
39. Charreriais a sport that involves talented horsemanship.

A) Mexican B) Ralian C) Indian D} Chinese

40. Sarah Joseph won the Muttathu Varkey Award for her collection of short sto
titled
A) Othappu B) Aathi C) Mattathi D) Papatha
41. In which category of computer memory that a FLASH MEMORY belongs to 7

A) EEPROM B) SRAM C) DRAM D) SDRAM
A -10-
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42,

43.

45.

48.

47.

48.

51.

Which of the following is not a system software ?
A) Programming Language Translator B) Operating System
C) Spreadsheet Software D) Device Driver

Which network device is used to connect two computer networks that use different
protocols 7

A) Router B) Gateway C) Bridge D) None of the

The HTML tag used to insert a picture in an HTML page is
A) <imgs tag B) <pic> tag C) <fig= tag D) <drws= tag

In which year the Information Tech nology Act was came into force in India 7
A) 2005 B) 2002 C) 2008 D) 2000

Amartya Kumar Sen was awarded Mobal Prize in the year 1998 for his contributions
in the field of

A) Literature B) Peace

C) Physics D) Mone of the above
The National Remote Sensing Centre (NASC) of ISRO is situated in
A) Ahmedabad B) Hyderabad

C) Sriharikota D} Thiruvananthapuram

Where in India the first nuclear power plant was built ?
A) Tamil Nadu B) Maharashtra C) Karnataka D) Uttar Pradesh

Which of the following statements is/are correet about Greenhouse gases effect 7
i. Nitrous oxide is a greenhouse gas.
Il. Carbon dioxide is a greenhouse gas,
iii. Methane is a greenhouse gas.

A) Only the statement i B) Statements i and ii only
C) Statements ii and iii only D) All the statements i, i and iii

How many States in India are traversed by the Western Ghats 7
A) 4 B) 5 C) 6 D)7

Sum of first 30 terms of the Arithmetic Sequence 6, 12, 18, ey 18 2790, Then, the
sum of first 30 terms of the Arithmetic Sequence 13, 19, 25, ... is

A) 3000 B) 2900 C) 3390 D) 3190
-12-
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42, mosreqoaymouied milgue amuoadpenumd angomma cqamoa
A) apuomodlond eisososd someqund B) eonysorloud migye
C) slmyew el eorvoadgaoumd D) cullescumi s

43, ruymyTp HnloeSeeeaos e Salswouilenmm mend exmuysh emgrubenieang enmul
afleaadt Gris@ouiianmm emErudes Dolanamo apamoan

A) o B) emgan
C) wnfovsd D) dyesglld alOsrmey edryms)
44, am HTML suslied aey olime sodencnd genooudleam HTML sool aper?
A) =img= tag B) <pic>tag C) <fig=> tag D) <drw= tag
45. gomymind @idandenasnt aseasmoasd riaoe rileniod cumm oo,
A) 2005 B) 2002 C) 2008 D) 2000
46. meaitm) eymod emariad 1998-2 ansuBImieE Mo@ILIME:bas amoeaun
moakme edflol
A) moadimio B) momawomo
C) moaflatroge D) myeesslled alcsmimoy erryme)
47. ISRO myes moaseme dlamog amadmilocd amudd (NRSC) mudiell susigpmme
A} mmanmmasenad | B) swananiensd
C) palarwilasanos D) sflegosmnmmayne
48. somciiae) e mpencuniame agnilesooe ol o ?
A) mdldmos B) @anonaiy C) sdemoss. D) prmdiaieat

49. aodlmiyen [pIRIO CUIMEEBEE McsrumuilLal moay anaymousied agmoer rordloooe ?
i. eemsm aieeemon en) aodmoins (LM

i, eoferuent annn elsnamn e aofmujan LN DT,
iii, e an) aodlmijen CUIMEDIET.
A} taspocum il @ame B) runporumenstd | go i o @ogme
C) wngorumatd i go il go mowme D) age apocumdesge 1, i, fii
50. goomyailad cgvm roeruodmEmees cualloneigo SSTEGalddgTy 7
A) 4 B) 5 C) 6 D) 7

51. werilm agperivias apay 30 ccamaes meaesrme 6, 12, 18, ..., 2790. mrag o

13, 19, 25, ... werlm egperfiaiioa mpe) 30 URIBLISS BHEETNE WO
A) 3000 B) 2900 C) 3380 D) 3190
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52.

53.

55.

57.

59.

Sekhar lost 6% by selling his motorcycle for Rs. 66,411. Al what price should he
sold to get a profit of 6% 7

A) Rs. 68,427 B) As. 74,200 C) Rs. 74,889 D) Rs. 73,427

Salaries of Asha, Sreerag and Dileep are in the ratio 3 : 4 : 5 respectively. If the
salaries were decreased by 5%, 10% and 13% respectively due to Covid pandamic.
What will be the new ratio of their Salaries 7

A) 75:82: 91 B) 57:72:87 C)65:78:88 D) 70:77:90
El+131§—?—3——x=?'—1-3—1m3n1{15
R Ll 110
5
n) s B) 20> o) 6= D) 11>
55 55 55 55

In a village 50% of the people have car, 40% have two wheeler and 15% have both
car and two wheeler. What percentage of the people in the village has neither car
nor two wheeler ?

A) 60 B) 65 C) 40 D) 35

The difference between compound interest and simple interest on an amount of
money in three years at the rate of 8% is RAs. 3,456. Then the principal amount is
A) Rs. 6,00,000 B) Rs. 5,00,000 C) Rs. 3,50,000 D) As. 4,00,000

Two trains 240 m and 180 m long run at the speed of 200 km/hr and 160 km/hr
respectively in opposite direction on parallel tracks. Then time (in second) taken o
cross each other is

A) 5.4 B) 4 C) 5 D) 4.2

A work can be completed by 8 men or 12 women in 25 days. 10 men and 5 women
will complete the same work in

A) 15 days B) 12 days C) 20 days D) 10 days

Volume of cylinder and cone are in the ratio 25 : 16, their height are in the ratio
3 - 4. Then ratio of radii of base of cylinder and cone is

A) 4:3 B) 5:6 C) 3:5 D) 3:4

In a company there are 50 employees. One employee weighing 64 kg retired and
a new employee joined in the company. If the average weight is then increased by

250 grams, what is the weight of new employee ?
1 1 1 1
74—k 73-=k 72- 76—
Ay SN0 By Facn C) 7e5 kg oye, kg

A4-




53.

54.

57.

59.

127/22

66,411 myrIg mend amoasHh e afigmileyss supsucin 6% megyaysnsomil. 6% eioao
adlena apcudd ag alleg] alifieasme ?

A) Rs. 68,427 8) Rs.74,200  C) Rs. 74,889 D) Rs. 73,427

s, R0, dleflal agrriluees tmiSe wineoe 3145 ugymwngnmrdhwﬁ.
aamonioy Bana@o] @:Hnemae MILNEsMa 5%, 10%,13% agy T SEREHTITAIETT (DTS
Eny0.oeNmEdled, EROLTES porugmTeg oo e iaEo agyrrmoaidiaano ?

A) 75:82:91 B) 57:72.87 C) 65:78:88 D) 70:77:90
E.-?—+131—5——?—3-—1=TJ—3- mpeemiEsled, X EETT)
55 110
5 3 8 5
Ay 6= 20— 86— D) 11—
) 55 - 55 = a5 ) 55

mmnmmﬂﬂmw“mmmmmm 15% @ntibael
IR W oaalasl agm madmo g esUbasl 0L N
_g_wmmmﬂ

A) 60 B) 65 C) 40 D) 35
anysineficome SIlmad aleflonto madleygs Oy, 895 crilmaelind o cubosars
myasif aaommo 9,456 o ImosT, modg o SRS G aga ?

A) As. 6,00,000 B) As.5,00,000

C) Rs. 3,50,000 D) Rs. 4,00,000

U@ (S8 EElth agyEiddiooaiod @LooksLe 200 km/hr, 160 km/hr, aruenmail

240 m, 180m nﬂmmﬁm@ﬂmm @05y, @RagRd almmo ELSHEI00 ) SIBaRTn
mm{mumﬁmﬂlﬂ}mﬁ

A) 5.4 B) 4 C) 5 D) 4.2

ey, amoel B aljiaHmosed 12 iflenag? 25 LTS Gds06E o banilmosaont e e,
10 qmmmmaSLwnm@mwmmmumﬂqﬁMﬂ?

A) 15 dloume B) 12 dicume C) 20 dinme D) 10 dlcume

=15-
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61.

66.

67.

213, 314, 253, 327,
A) 315 B) 426 C) 572 D) 514

Argentina : Buenos Aires : : Bhutan : 7
A) Thimbu B) Dhaka C) Kabul D) Manama

The mirror image of a clock show a time 10 : 20. Then real time shown by the clock is
A) 1:20 B) 1:40 C) 2:40 D) 2:20

It August 1%, 1975 was Friday, then September 30, 1970 was
A) Friday B) Saturday C) Thursday D) Wednesday

In a certain code, JOURMNEY is written as VPKSOFZ. How is ACQUIRE written in
that code ?
A) BDRJSVF B) VJSFBDR C) RDBVJSF D) JORBSFV

At the time 10 : 20 the hour hand and minute hand of a clock form an angle of
A) 180° B) 180" C) 130° D) 100°

Rajesh moved 30 km in the west and then he turned to his left and moved 20 km.
Then he tumed to his left and moved 30 km. After this he tumed to his left and moved
40 km. How far is he from the starting point ?

A) 20 km B) 10 km C) 30 km D) 40 km
Find the odd man out :

19, 9, 51, 35, 73, 99, 201, 243.

A) 9 B) 99 C) 51 D) 35

Pointing to a person Raju said, “she is daughter of the only daughter of the mother
of my brother”. How Raju is related to the person he said ?

A) Sister B) Niece C) Sister-in-law D) Aunt
e ePacferey
— of — of —of — i

Value of g ey oy of 90840 is

A) 753 B) 758

C) 757 D) MNone of these

AB-
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61. 213,314,253, 327,
A) 315 B) 426 C) 572 D) 514
62. medeafim : enuysmoi eagyclond' : © aggod 7
A) wflosmy B) wosn C) ey D) amom
63. ey egyadof dod pensd mame 10 : 20 soaflenmmy. aragod egoed esenfleaym
WLOHNNIMO T
A) 1:20 B) 1:40 C) 2:40 D) 2:20
64. 1975 sowqy 1 ecusdlood cimonemeldd, 1970 amunligosrud 30
gyl
A) mrugsd B) ool C) aupso D) enyusib

65. mm puems eaaailed JOURNEY agrmai VPKSOFZ agymosnt agyeymimidl sayrma,
m el agememaoar ACQUIRE agy agysafiadlesyomal 7

A) BDRJSVF B) VJSFBDR C) RDBVJSF D) JORBSFV
66. 10 : 20 of any egoedlach menflesyd myalloye dieild myafloge aaioemadfl

@YY,

A) 180" B) 160° C) 130° D) 100°

67. mocsrsl cuglemmocnag 30 leaindlgd ofland), mystor? gemyruceanmes afldenm 20 slaam
diigyd cfisesl. agyrils @smouermes’ afldemm 30 lsendind ofeml. mafllmautnse mocud®
fsmyruunermdae wildemmi 40 elesndind riiemsE]. meoud apomlaaym o oo agim

‘ ijmayens 7
A) 20 km B) 10 km C) 30 km D) 40 km

68. aguoam e,
19,9, 51, 35, 73, 99, 201, 243.

A) 9 B) 99 C) 51 D) 35

69. amag aysndl nomgy aloemmy, “EROUNR agEl MennIERa MRIDGINS afds RS
DeBEIETT . RO, merunh aloemm oljsriiogaoal agemeam eumuea | Sdleamm; ?
A) muganoad B) omjmesid C) emnsioomd D) meamow]

1 1 1 1

A) 753 B) 758
C) 757 D) goruemarrmymgl
7=
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.

72.

73.

74,

79.

76.

-

Theyhavespent _ for their son's wedding.
(Fill up the blanks choosing the right word.)
A) Many B) Enough C) Any D) The little

Choose the opposite word for subversion.
A) Destabilisation B) Clarity
C) Compliance D) Sanity

Mancy said, “| may leave tomorrow”
{Report the sentence.)

A} Mancy said that she might leave the next day
B) Mancy said that she might leave tomorrow

C) Mancy asked if she should leave the next day
D) Nancy informed me to leave tomorrow

He is polite to everyone.,
(Rewrite the sentence as a negative sentence without changing the meaning.)
A) He is not polite to everyone

B) He is impolite to everyone

C) He is never impolite to anyone

D) He is polite to anyone

It was the fight of the snake with mongoose.
(Fill up the blanks choosing the right word.)

A) Bad B) Worse

C) Worst D) Fine
Youareanindlan.__ 7

(Use the right question tag.)

A) Aren't you 7 B) Don't you ?
C) Isn't you ? D) Couldn’t you ?

Read the following sentence and complete.

Hardly had | entered the station the train left,
A) When B) Than
C) Then D) But
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. Brutus stabbed Ceaser.

(Begin the sentence starting with Ceaser.)
A) Ceaser was stabbed by Brutus

B) Ceaser is stabbed by Brutus

C) Ceaser were stabbed by Brutus

D) Ceaser is being stabbed by Brutus

. If the game is good, | play it.
(Fill up choosing the right option.)
A) Would have B) Would have been
C) Will be D) Will
_ The children will learn ______ from their mistake.
(Fill in the blanks choosing the right option.)
A) Incredibly B) Possibly
C) Apparently D) Surprisingly
. The aeroplane at the right time.
(Fill up choosing the right option.)
A) Lined up B) Took off
C) Stood by s D) Brought out
. The cat the mice.
(Fill up the blank choosing the right word.)
A) Eat B) Eats
C) Eating D) Eaten
. There was traffic on the way.
(Choose the right alternative.)
A) Hard B) Heavy C) Thick D) Much

. Frame a question to get the underlined as answer.
They lived here for long living.

A) How long did they live here ?

B) Where do they live ?

C) What do they live ?

D) When do they live ?

A48-
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g5. | was not unmindful of the fact.
(Pick out the phrase nearest in meaning.)
A) Had not forgotten : was aware of the fact
B) Was not careful about the fact
C) Forgot or was not aware of the fact
D) Were not aware of the fact

86. The corrupt officials had bribe.
{Choose the right option.)
A) Accepted B) Excepted
C) Exempted D) Exceeded

g7. A govermnment run by a dictator is termed as
(Choose the right alternative.)
A) Autocracy B) Democracy
C) Oligracy D) Theocracy

88. Bag and Baggage.
(Choose the right option to get the meaningful expression.)
A) All the clothing
B) Leave
C) Without any belonging
D) With all one's belongings

89. He in the States, but he still doesn’t have a command over the English
Language. (Fill up choosing the right alternative.)
A) Have been living
B) Has been living |
C) Living
D) Have lived

90. Complete the following using appropriate phrasal verbs.

The boy was by his uncle.
A) Putup B) Brought up
C) Bought up D) Took up
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91. codlmom alGo agySIeETEFLm .

A) mypsisoat B) mynsioonl
C) tuesafsoal D) wmyragoad
92, ‘sadlench o igomme” agrmelad egg e 7
A) mnsmmo B) meemomoio
C) moasmoaio D) memoacxriiae

93. msagyd anonimad momd mally MISdho oyt 7

A) anoeraum enflm B) esacummod
C) aygaesil D) asogemuade]
94, ‘W‘mmmmngﬁ?
A) age e B) megy susommsmoddio smelo
C) oeqfleyes amaio D) asponym o

95. mwwu@ﬂ
A) ancflanid B) alglech C) cropdilencd D) aysacd

96. saialo ag)m cudasian ERimoo agfySenTm S,
A) dyonl B) el C) alluessi D) amso

97. ammocd agm aleomiad glellonmialo agyfimids.
A) amioi B) amadlod C) emafle D) amymilerd

98. mmﬂmﬁmmmmmﬁnmmwﬂ@ﬁ?
A) amya @am Soinys B) Wﬁqmammmmf
C) eoeagio mibayemm) saaobaysmm D) dirmymeamgo SoliTmg)

09. cuoes’ agym Al I Ko of)SIENTTE ST
A) allem B) ruoen C) #nglo D) cuouidl

100. cedflaonl olidie o)l agad ?
A) cuowalwo — LY, affo B) afimycuoniim — milmy, memia
C) W—m.wﬁ D) aesnosie — o8, SHIS0




